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Class-1V Half Yearly Question — 3

Full Mark: 50

Objective Questions [1X16=16]
1. Write ninety five lakh fifty four thousand seven hundred eighty nine in figures.
2. Express 19 as sum of two prime numbers.
3. The smallest composite numberis
4.0+2500=__
5. Put the correct sign, >, < or = in the box.

7138+20[ ] 7168

6. Write the expanded form of 832917.

~N

. 62x(15+25)=62Xx_____ +62x 25.
8.15+15+15+15+15+15=15x_ =
9. If 6 x 100 = 600, then 600 is a of 6 and 100.

10. 4276 is divisible by 4. Mark True / False.

11. What is the difference between 3™ multiple 9 and 5" multiple of 15?
12. What is the Roman numeral of 46?

13. 68712 is divisible by 9. True / False.
14. 1 is a prime number, True or False.
15. Prime number between 20 to 40, mark which one is correct.

a) 21,23, 29, 31, 37 b) 23,29, 37
<) 23,29, 31, 37 d) 23,27, 29, 31, 37

16. 3 is factor of 79306, True or False.
a) True b) False

Subjective Questions [3X6=18]
17. Find the HCF of 64 and 164.

18. Find the LCM of 32, 64 and 72.

19. Write the factors of 18 and 24. Find the common factors and highest common factor.

20. Find the product of 7852 and 213.

21. Divide 376145 by 986.
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22. What is the prime factorization of 176.

Word Problems [4X4=16]

23. 97201 people went to see the cricket match. Out of which 36085 were men, 30267 were women.
How many were children?

24. Government distributed 75854 kg rice among 46 villages equally. How much rice each village got?

25. 8 packets contains 8560 chocolates. How many chocolates will be there in 5 similar packets?
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26.%+ <l & =2656 5 < J> =4945
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